PA

ST LR (mm)
05 06 05 06
pa | % pal Q . E
. d.’____. M5X08 T
o ©
M5X0.8 M14X 1
MBX0.75 | > 1] ol
[ To) 19H
® = 01 P|w | i
usx0s | o M5x08 w|
w
3 230N 14H <
g 108 @) MBX 1 o
{ [an)]
OA OA
10A/15A/20A 25,730,740,/50
10B,/15B,/20B
5.5H 10H
=—¥% E%@
M5x0.8 ' |

MBXTN\ | 12+
M14x1 [ g -

| =m

oI — 19H
M8X 1 | —to
M5X0.8 w
ST TN 140 —
M6EX 1 i
©
gT 030
30B

66



